Acta Mathematica Academiae Paedagogicae Nyíregyháziensis **34** (2023), 34-49. www.emis.de/journals

www.emis.de/journals ISSN 1786-0091

# LYAPUNOV-TYPE INEQUALITIES FOR NONLINEAR SYSTEMS WITH PRABHAKAR FRACTIONAL DERIVATIVES

SHIVA ESHAGHI, ALIREZA ANSARI AND REZA KHOSHSIAR GHAZIANI

ABSTRACT. This article is devoted to the study of a fractional nonlinear system of differential equations including the Prabhakar fractional derivative. We present some new Lyapunov-type inequalities for this system and consider some special cases of the system.

#### 1. Introduction

In the recent years, many researchers have studied mathematical inequalities of fractional differential equations (equations with non-integer integral and derivatives). Most of these inequalities have been presented for the linear fractional differential equations with different boundary conditions. One of the important discussed inequality in literature is the Lyapunov inequality which various representations of it have been given in [1, 2], [8, 10–12], [19–21, 28, 34, 35]. In this paper, we intend to extend the Lyapunov inequality for the nonlinear fractional differential equations with a generalized fractional derivative (Prabhakar derivative). For this purpose, we consider the following fractional nonlinear system of differential equations (a generalization of the Emden-Fowler-type and half-linear equations) [32]

$$\begin{cases} x'(t) = \alpha_1(t)x(t) + \beta_1(t)|u(t)|^{\gamma - 2}u(t), & \gamma > 1, \\ u'(t) = -\beta_2(t)|x(t)|^{\beta - 2}x(t) - \alpha_1(t)u(t), & \beta > 1, \end{cases}$$

with initial conditions

$$x(a) = x(b) = 0,$$
  $a, b \in \mathbb{R}, a < b,$ 

 $<sup>2020\</sup> Mathematics\ Subject\ Classification.\ 26A33,\ 26D10,\ 33E12,\ 34A08.$ 

Key words and phrases. Lyapunov inequality, Prabhakar derivative, Mittag-Leffler function.

and intend to fractionalize this system in the sense of Prabhakar fractional derivative for  $\rho, \mu, \omega, \lambda \in \mathbb{C}$ ,  $\Re(\rho) > 0$  and  $0 < \mu < 1$ 

(1) 
$$\begin{cases} D_{\rho,\mu,\omega,t}^{\lambda} x(t) = \alpha_1(t)x(t) + \beta_1(t)|u(t)|^{\gamma-2}u(t), & \gamma > 1, \\ D_{\rho,\mu,\omega,t}^{\lambda} u(t) = -\beta_2(t)|x(t)|^{\beta-2}x(t) - \alpha_1(t)u(t), & \beta > 1. \end{cases}$$

The functions  $\alpha_1, \beta_1$  and  $\beta_2$  are continuous such that  $\beta_1(t) > 0$  for  $t \in [t_0, \infty)$  and initial conditions are given in terms of the Prabhakar integral

$$x(a) = x(b) = 0, \quad (E_{\rho, 1-\mu, \omega, a^+}^{-\lambda} u)(b) = (E_{\rho, 1-\mu, \omega, b^-}^{-\lambda} u)(a) = 0, \quad a, b \in \mathbb{R}, a < b.$$

Throughout this paper, we suppose that the nontrivial solution (x(t), u(t)) of the fractional nonlinear system (1) exists and the following hypotheses hold:

- i):  $\beta_1, \beta_2 : [t_0, \infty) \subset \mathbb{R} \to \mathbb{R}$  are continuous functions such that  $\beta_1(t) > 0$  for  $t \in [t_0, \infty)$ .
- ii):  $\alpha_1:[t_0,\infty)\to\mathbb{R}$  is a continuous function.

The rest of the paper is organized as follows. In Section 2, we recall some fundamental preliminaries of the Prabhakar integrals and derivatives. In Section 3, we state our main theorem for the fractional nonlinear system (1) and deduce some special cases for the obtained Lyapunov inequality.

## 2. Preliminaries

In this section, we recall some basic definitions and properties of fractional Prabhakar integral and derivative, and generalized Mittag-Leffler function.

2.1. The generalized Mittag-Leffler function. In year 1971, Prabhakar introduced the generalized Mittag-Leffler function (Mittag-Leffler function with three parameters) on his study in singular integral equations as follows [29]

(2) 
$$E_{\rho,\mu}^{\lambda}(z) := \sum_{k=0}^{\infty} \frac{(\lambda)_k}{\Gamma(\rho k + \mu)} \frac{z^k}{k!}, \quad \lambda, \rho, \mu \in \mathbb{C}, \ \Re(\rho) > 0,$$

where  $(\lambda)_k$  is the Pochhammer symbol

$$(\lambda)_0 = 1,$$
  $(\lambda)_k = \lambda(\lambda + 1) \cdots (\lambda + k - 1),$   $k = 1, 2, \dots$ 

For  $\lambda=1$ , we get the two-parameter Mittag-Leffler function  $E_{\rho,\mu}(z)$  defined by

$$E_{\rho,\mu}(z) := E_{\rho,\mu}^{1}(z) = \sum_{k=0}^{\infty} \frac{z^{k}}{\Gamma(\rho k + \mu)}, \qquad \rho, \mu \in \mathbb{C}, \ \Re(\rho) > 0.$$

For the special case  $\lambda = \rho = 1$ , this function coincides with the classical Mittag-Leffler function [26, 27]

$$E_{\rho}(z) := E_{\rho,1}^{1}(z) = \sum_{k=0}^{\infty} \frac{z^{k}}{\Gamma(\rho k + 1)}, \qquad \rho \in \mathbb{C}, \ \Re(\rho) > 0.$$

For  $\lambda = 0$  we have

$$E^0_{\rho,\mu}(z) = \frac{1}{\Gamma(\mu)}.$$

Many researchers have established many contributions on the generalized Mittag-Leffler function, especially in the theory of fractional calculus, and detected some applications in physics, engineering and applied sciences. For example, these functions are applied in the theory of fractional and operational calculus such as fractional order differential and integral equations and Cauchy-type initial and boundary value problems [3, 4, 6–9, 13–18, 22–25, 30, 31, 33].

**Lemma 1.** For  $\lambda, \rho, \mu, \omega \in \mathbb{C}$  and  $\Re(\rho) > 0$ , differentiation of the generalized Mittag-Leffler function (2) is given by [23]

$$\left(\frac{d}{dz}\right)^n \left[z^{\mu-1} E_{\rho,\mu}^{\lambda}(\omega z^{\rho})\right] = z^{\mu-n-1} E_{\rho,\mu-n}^{\lambda}(\omega z^{\rho}), \quad n \in \mathbb{N}.$$

**Theorem 1.** For  $\lambda, \rho, \mu, \nu, \sigma, \omega \in \mathbb{C}$   $(\Re(\rho), \Re(\mu), \Re(\nu) > 0)$ , the following relations hold [23]

$$\int_{a}^{t} (t-\eta)^{\mu-1} E_{\rho,\mu}^{\lambda}(\omega(t-\eta)^{\rho}) \eta^{\nu-1} E_{\rho,\nu}^{\sigma}(\omega \eta^{\rho}) d\eta = (t-a)^{\mu+\nu-1} E_{\rho,\mu+\nu}^{\lambda+\sigma}(\omega(t-a)^{\rho}),$$

$$\int_{t}^{b} (\eta - t)^{\mu - 1} E_{\rho, \mu}^{\lambda}(\omega(\eta - t)^{\rho}) \eta^{\nu - 1} E_{\rho, \nu}^{\sigma}(\omega \eta^{\rho}) d\eta = (b - t)^{\mu + \nu - 1} E_{\rho, \mu + \nu}^{\lambda + \sigma}(\omega(b - t)^{\rho}),$$

and in the special case  $\sigma=0$  and  $\nu=1$ , we have

$$\int_{a}^{t} (t - \eta)^{\mu - 1} E_{\rho, \mu}^{\lambda}(\omega(t - \eta)^{\rho}) d\eta = (t - a)^{\mu} E_{\rho, \mu + 1}^{\lambda}(\omega(t - a)^{\rho}),$$

$$\int_{0}^{t} (t - \eta)^{\mu - 1} E_{\rho, \mu}^{\lambda}(\omega(t - \eta)^{\rho}) d\eta = (t - a)^{\mu} E_{\rho, \mu + 1}^{\lambda}(\omega(t - a)^{\rho}).$$

## 2.2. Fractional Prabhakar Integrals and Derivatives.

**Definition 1.** (Prabhakar integral) The left-sided and right-sided Prabhakar integral operators of  $f \in L^1[a, b]$  are defined as follows [13]

$$E_{\rho,\mu,\omega,a^+}^{\lambda}f(t)dt = \int_a^t (t-\xi)^{\mu-1} E_{\rho,\mu}^{\lambda} \left(\omega(t-\xi)^{\rho}\right) f(\xi)d\xi,$$

$$E^{\lambda}_{\rho,\mu,\omega,b^{-}}f(t)dt = \int_{t}^{b} (\xi - t)^{\mu - 1} E^{\lambda}_{\rho,\mu} \left(\omega(\xi - t)^{\rho}\right) f(\xi)d\xi,$$

where  $\rho, \mu, \omega, \lambda \in \mathbb{C}$ ,  $\Re(\rho)$ ,  $\Re(\mu) > 0$ .

Remark 1. We note that for  $\lambda = 0$ , the Prabhakar integral operators coincide with the Riemann-Liouville fractional integrals of order  $\mu$ 

$$E^0_{\rho,\mu,\omega,a^+}f(t) = I^{\mu}_{a^+}f(t), \qquad E^0_{\rho,\mu,\omega,b^-}f(t) = I^{\mu}_{b^-}f(t).$$

**Definition 2.** (Prabhakar derivative) The left-sided and right-sided Prabhakar derivatives of  $f \in L^1[a, b]$  are defined by [13]

$$D_{\rho,\mu,\omega,a^{+}}^{\lambda}f(t) = \frac{d^{m}}{dt^{m}}E_{\rho,m-\mu,\omega,a^{+}}^{-\lambda}f(t),$$

$$D_{\rho,\mu,\omega,b^{-}}^{\lambda}f(t) = -\frac{d^{m}}{dt^{m}}E_{\rho,m-\mu,\omega,b^{-}}^{-\lambda}f(t),$$

where  $\rho, \mu, \omega, \lambda \in \mathbb{C}$ ,  $\Re(\rho) > 0$ ,  $\Re(\mu) > 0$  and  $m - 1 < \mu < m$ .

Remark 2. It is obvious that the Prabhakar derivative generalizes the Riemann-Liouville fractional derivative.

**Lemma 2.** For  $0 < \mu < 1$ , the Prabhakar fractional derivatives of a constant are given by

(3) 
$$(D_{\rho,\mu,\omega,a^{+}}^{\lambda}1)(t) = (t-a)^{-\mu} E_{\rho,1-\mu}^{-\lambda}(\omega(t-a)^{\rho}),$$

(4) 
$$(D_{\rho,\mu,\omega,b^{-}}^{\lambda}1)(t) = (b-t)^{-\mu} E_{\rho,1-\mu}^{-\lambda}(\omega(b-t)^{\rho}).$$

which are not identically equal to zero.

*Proof.* Applying Definition 2 and using Theorem 1, and Lemma 1 for  $0 < \mu < 1$ , we can easily obtain the relations (3) and (4).

**Lemma 3.** Let  $m-1 < \mu < m, m \in \mathbb{N}$ , then the following relations hold

(5) 
$$\int_{a}^{b} f(t) E_{\rho,\mu,\omega,a^{+}}^{\lambda} g(t) dt = \int_{a}^{b} g(t) E_{\rho,\mu,\omega,b^{-}}^{\lambda} f(t) dt,$$

(6) 
$$\int_a^b f(t) D_{\rho,\mu,\omega,a^+}^{\lambda} g(t) dt = \int_a^b g(t) D_{\rho,\mu,\omega,b^-}^{\lambda} f(t) dt.$$

*Proof.* To prove the relation (5), we use Definition 1 and change the order of integration  $\Box$ 

$$\begin{split} \int_a^b f(t) E_{\rho,\mu,\omega,a^+}^{\lambda} g(t) dt &= \int_a^b f(t) \int_a^t (t-\xi)^{\mu-1} E_{\rho,\mu}^{\lambda} \left( \omega(t-\xi)^{\rho} \right) g(\xi) d\xi dt \\ &= \int_a^b g(\xi) \int_{\xi}^b (t-\xi)^{\mu-1} E_{\rho,\mu}^{\lambda} \left( \omega(t-\xi)^{\rho} \right) f(t) dt d\xi \\ &= \int_a^b g(\xi) E_{\rho,\mu,\omega,b^-}^{\lambda} f(\xi) d\xi. \end{split}$$

Now, by using Definition 2 and the relation (5), we observe that

$$\begin{split} \int_a^b f(t) D_{\rho,\mu,\omega,a^+}^{\lambda} g(t) dt &= \int_a^b f(t) \frac{d^m}{dt^m} E_{\rho,m-\mu,\omega,a^+}^{-\lambda} g(t) dt \\ &= \int_a^b g(t) \frac{d^m}{dt^m} E_{\rho,m-\mu,\omega,b^-}^{-\lambda} f(t) dt \\ &= \int_a^b g(t) D_{\rho,\mu,\omega,b^-}^{\lambda} f(t) dt, \end{split}$$

which completes the proof.

**Lemma 4.** If  $f(t) \in C(a,b) \cap L(a,b)$ , then

$$D^{\lambda}_{\rho,\mu,\omega,a^{+}} E^{\lambda}_{\rho,\mu,\omega,a^{+}} f(t) = f(t),$$
  
$$D^{\lambda}_{\rho,\mu,\omega,b^{-}} E^{\lambda}_{\rho,\mu,\omega,b^{-}} f(t) = f(t),$$

and if f(t) and its fractional Prabhakar derivatives belong to  $C(a,b) \cap L(a,b)$ , then for  $c_i \in \mathbb{R}$  and  $m-1 < \mu \leq m$ , we have [8]

$$E_{\rho,\mu,\omega,a^{+}}^{\lambda}D_{\rho,\mu,\omega,a^{+}}^{\lambda}f(t) = f(t) + \sum_{j=1}^{m} c_{j}(t-a)^{\mu-j}E_{\rho,\mu-j+1}^{\lambda}(\omega(t-a)^{\rho}),$$

$$E_{\rho,\mu,\omega,b^{-}}^{\lambda}D_{\rho,\mu,\omega,b^{-}}^{\lambda}f(t) = f(t) - \sum_{j=1}^{m} (-1)^{m-j}c_{j}(b-t)^{\mu-j}E_{\rho,\mu-j+1}^{\lambda}(\omega(b-t)^{\rho}).$$

## 3. Main Theorems

In this section, we consider the fractional nonlinear system (1) with the Prabhakar derivatives and establish some new Lyapunov-type inequalities for this system. We also derive some particular cases of the obtained Lyapunov-type inequalities.

**Theorem 2.** For the fractional nonlinear system (1) with the Prabhakar derivative the following inequality holds

$$2 \leq \int_{a}^{b} |t - \tau|^{\mu - 1} E_{\rho,\mu}^{\lambda}(\omega |t - \tau|^{\rho}) |\alpha_{1}(t)| dt$$

$$+ M^{\frac{\beta}{\alpha} - 1} \Big( \int_{a}^{b} |t - \tau|^{\gamma(\mu - 1)} \Big( E_{\rho,\mu}^{\lambda}(\omega |t - \tau|^{\rho}) \Big)^{\gamma} \beta_{1}(t) dt \Big)^{\frac{1}{\gamma}} \Big( \int_{a}^{b} \beta_{2}^{+}(t) |dt \Big)^{\frac{1}{\alpha}},$$

$$where \frac{1}{\gamma} + \frac{1}{\alpha} = 1, \ M = \max |x(t)|_{a < t < b} \ and \ \beta_{2}^{+}(t) = \max \{\beta_{2}(t), 0\}.$$

*Proof.* Since x(a) = x(b) = 0 and x is not identically zero on [a,b], there exists  $\tau \in (a,b)$  such that  $M = |x(\tau)| = \max |x(t)|_{a < t < b} > 0$ . By separating the interval [a,b] into two subintervals  $[a,\tau]$  and  $[\tau,b]$  and applying the left-sided and right-sided Prabhakar fractional integral operator  $E^{\lambda}_{\rho,\mu,\omega,a^{+}}$  and  $E^{\lambda}_{\rho,\mu,\omega,b^{-}}$ 

on the both sides of the first equation of system (1) in the subintervals  $[a, \tau]$  and  $[\tau, b]$ , respectively, we have

$$\left(E_{\rho,\mu,\omega,a^{+}}^{\lambda}D_{\rho,\mu,\omega,a^{+}}^{\lambda}x(t)\right)(\tau) = \left(E_{\rho,\mu,\omega,a^{+}}^{\lambda}\left[\alpha_{1}(t)x(t) + \beta_{1}(t)|u(t)|^{\gamma-2}u(t)\right]\right)(\tau),$$

and

$$\left(E_{\rho,\mu,\omega,b^{-}}^{\lambda}D_{\rho,\mu,\omega,b^{-}}^{\lambda}x(t)\right)(\tau) = \left(E_{\rho,\mu,\omega,b^{-}}^{\lambda}\left[\alpha_{1}(t)x(t) + \beta_{1}(t)|u(t)|^{\gamma-2}u(t)\right]\right)(\tau).$$

By employing Lemma 4 for some real constants  $c_1$  and  $d_1$ , we obtain

$$x(\tau) - c_1(\tau - a)^{\mu - 1} E_{\rho, \mu}^{\lambda} \left( \omega(\tau - a)^{\rho} \right)$$
  
=  $\int_a^{\tau} (\tau - t)^{\mu - 1} E_{\rho, \mu}^{\lambda} \left( \omega(\tau - t)^{\rho} \right) \left[ \alpha_1(t) x(t) + \beta_1(t) |u(t)|^{\gamma - 2} u(t) \right] dt,$ 

and

$$x(\tau) - d_1(b-\tau)^{\mu-1} E_{\rho,\mu}^{\lambda} \left( \omega(b-\tau)^{\rho} \right)$$

$$= \int_{\tau}^{b} (t-\tau)^{\mu-1} E_{\rho,\mu}^{\lambda} \left( \omega(t-\tau)^{\rho} \right) \left[ \alpha_1(t)x(t) + \beta_1(t)|u(t)|^{\gamma-2}u(t) \right] dt.$$

Since x(a) = x(b) = 0 and  $0 < \mu < 1$ , the coefficients  $c_1$  and  $d_1$  must be zero. So, by using the triangle inequality, the above relations lead to the following inequalities

$$|x(\tau)| \le \int_{a}^{\tau} |\tau - t|^{\mu - 1} E_{\rho,\mu}^{\lambda} (\omega |\tau - t|^{\rho}) |\alpha_{1}(t)| |x(t)| dt + \int_{a}^{\tau} |\tau - t|^{\mu - 1} E_{\rho,\mu}^{\lambda} (\omega |\tau - t|^{\rho}) \beta_{1}(t) |u(t)|^{\gamma - 1} dt,$$

and

$$|x(\tau)| \leq \int_{\tau}^{b} |t - \tau|^{\mu - 1} E_{\rho,\mu}^{\lambda} \left(\omega |t - \tau|^{\rho}\right) |\alpha_{1}(t)| |x(t)| dt$$
$$+ \int_{\tau}^{b} |t - \tau|^{\mu - 1} E_{\rho,\mu}^{\lambda} \left(\omega |t - \tau|^{\rho}\right) \beta_{1}(t) |u(t)|^{\gamma - 1} dt.$$

Now, by summing up the two previous inequalities, we get

(7) 
$$2|x(\tau)| \leq \int_{a}^{b} |\tau - t|^{\mu - 1} E_{\rho,\mu}^{\lambda} (\omega |\tau - t|^{\rho}) |\alpha_{1}(t)| |x(t)| dt + \int_{a}^{b} |\tau - t|^{\mu - 1} E_{\rho,\mu}^{\lambda} (\omega |\tau - t|^{\rho}) \beta_{1}(t) |u(t)|^{\gamma - 1} dt,$$

whence, by using Hölder inequality on the second integral of the right hand side of (7) for  $\frac{1}{\alpha} + \frac{1}{\gamma} = 1$ , we obtain

$$\begin{split} &\int_{a}^{b} |\tau-t|^{\mu-1} E_{\rho,\mu}^{\lambda} \left(\omega |\tau-t|^{\rho}\right) \beta_{1}(t) |u(t)|^{\gamma-1} dt \\ &= \int_{a}^{b} |\tau-t|^{\mu-1} E_{\rho,\mu}^{\lambda} \left(\omega |\tau-t|^{\rho}\right) \beta_{1}^{\frac{1}{\gamma}}(t) \beta_{1}^{\frac{1}{\alpha}}(t) |u(t)|^{\gamma-1} dt \\ &\leq \left(\int_{a}^{b} |\tau-t|^{\gamma(\mu-1)} \left(E_{\rho,\mu}^{\lambda} \left(\omega |\tau-t|^{\rho}\right)\right)^{\gamma} \beta_{1}(t) dt\right)^{\frac{1}{\gamma}} \left(\int_{a}^{b} \beta_{1}(t) |u(t)|^{\alpha(\gamma-1)} dt\right)^{\frac{1}{\alpha}} \\ &= \left(\int_{a}^{b} |\tau-t|^{\gamma(\mu-1)} \left(E_{\rho,\mu}^{\lambda} \left(\omega |\tau-t|^{\rho}\right)\right)^{\gamma} \beta_{1}(t) dt\right)^{\frac{1}{\gamma}} \left(\int_{a}^{b} \beta_{1}(t) |u(t)|^{\gamma} dt\right)^{\frac{1}{\alpha}}, \end{split}$$

and subsequently

$$2|x(\tau)| \leq \int_{a}^{b} |\tau - t|^{\mu - 1} E_{\rho,\mu}^{\lambda} (\omega |\tau - t|^{\rho}) |\alpha_{1}(t)| |x(t)| dt$$

$$+ \left( \int_{a}^{b} |\tau - t|^{\gamma(\mu - 1)} \left( E_{\rho,\mu}^{\lambda} (\omega |\tau - t|^{\rho}) \right)^{\gamma} \beta_{1}(t) dt \right)^{\frac{1}{\gamma}}$$

$$\times \left( \int_{a}^{b} \beta_{1}(t) |u(t)|^{\gamma} dt \right)^{\frac{1}{\alpha}}.$$
(8)

At this point, without loss of generality, we assume that the operator  $D_{\rho,\mu,\omega,t}^{\lambda}$  of system (1) is the left-sided Prabhakar derivative. If we multiply the first equation of system (1) by u(t) and the second one by x(t) and then add the results, we have

$$u(t)D_{\rho,\mu,\omega,a^{+}}^{\lambda}x(t) + x(t)D_{\rho,\mu,\omega,a^{+}}^{\lambda}u(t) = \beta_{1}(t)|u(t)|^{\gamma} - \beta_{2}(t)|x(t)|^{\beta}.$$

By integrating the above equation on interval [a, b], using the relation (6), Definition 2 for  $0 < \mu < 1$  and  $\tau, s \in (a, b)$ , we deduce

$$\int_{a}^{b} \beta_{1}(t)|u(t)|^{\gamma}dt - \int_{a}^{b} \beta_{2}(t)|x(t)|^{\beta}dt$$

$$= \int_{a}^{b} u(t)D_{\rho,\mu,\omega,a}^{\lambda} + x(t)dt + \int_{a}^{b} x(t)D_{\rho,\mu,\omega,a}^{\lambda} + u(t)dt$$

$$= \int_{a}^{b} u(t)D_{\rho,\mu,\omega,a}^{\lambda} + x(t)dt + \int_{a}^{b} u(t)D_{\rho,\mu,\omega,b}^{\lambda} - x(t)dt$$

$$= \int_{a}^{b} u(t) \left[D_{\rho,\mu,\omega,a}^{\lambda} + x(t) + D_{\rho,\mu,\omega,b}^{\lambda} - x(t)\right]dt$$

$$\begin{split} &\leq \int_a^b u(t) \Big[ \frac{d}{dt} \int_a^t |t-s|^{-\mu} E_{\rho,1-\mu}^{-\lambda} \big( \omega |t-s|^\rho \big) |x(s)| ds \\ &\quad + \frac{d}{dt} \int_t^b |s-t|^{-\mu} E_{\rho,1-\mu}^{-\lambda} \big( \omega |s-t|^\rho \big) |x(s)| ds \Big] dt \\ &\leq \int_a^b u(t) \Big[ \frac{d}{dt} \int_a^t |t-s|^{-\mu} E_{\rho,1-\mu}^{-\lambda} \big( \omega |t-s|^\rho \big) \max |x(s)| ds \\ &\quad + \frac{d}{dt} \int_t^b |s-t|^{-\mu} E_{\rho,1-\mu}^{-\lambda} \big( \omega |s-t|^\rho \big) \max |x(s)| ds \Big] dt \\ &= \int_a^b u(t) |x(\tau)| \Big[ \frac{d}{dt} \int_a^t |t-s|^{-\mu} E_{\rho,1-\mu}^{-\lambda} \big( \omega |t-s|^\rho \big) ds \\ &\quad + \frac{d}{dt} \int_t^b |s-t|^{-\mu} E_{\rho,1-\mu}^{-\lambda} \big( \omega |t-s|^\rho \big) ds \Big] dt \\ &= (\pm 1)^{\rho-\mu} M \int_a^b u(t) \Big[ \big( D_{\rho,\mu,\omega,a^+}^{\lambda} 1 \big) (t) + \big( D_{\rho,\mu,\omega,b^-}^{\lambda} 1 \big) (t) \Big] dt, \end{split}$$

where  $M=|x(\tau)|=\max|x(s)|_{a< s< b}$ . Using the relations (3) and (4), also taking into account  $(E^{-\lambda}_{\rho,1-\mu,\omega,a^+}u)(b)=(E^{-\lambda}_{\rho,1-\mu,\omega,b^-}u)(a)=0$ , we get

$$\begin{split} (\pm 1)^{\rho-\mu} M \int_{a}^{b} u(t) \Big[ (D_{\rho,\mu,\omega,a^{+}}^{\lambda} 1)(t) + (D_{\rho,\mu,\omega,b^{-}}^{\lambda} 1)(t) \Big] dt \\ = (\pm 1)^{\rho-\mu} M \Big[ \int_{a}^{b} (t-a)^{-\mu} E_{\rho,1-\mu}^{-\lambda} \Big( \omega |t-a|^{\rho} \Big) u(t) dt \\ + \int_{a}^{b} (b-t)^{-\mu} E_{\rho,1-\mu}^{-\lambda} \Big( \omega |b-t|^{\rho} \Big) u(t) dt \Big] \\ = (\pm 1)^{\rho-\mu} M \Big[ (E_{\rho,1-\mu,\omega,a^{+}}^{-\lambda} u)(a) + (E_{\rho,1-\mu,\omega,b^{-}}^{-\lambda} u)(b) \Big] = 0, \end{split}$$

so

$$\int_a^b \beta_1(t)|u(t)|^{\gamma}dt \le \int_a^b \beta_2(t)|x(t)|^{\beta}dt.$$

Therefore, from (8) we get

$$2|x(\tau)| \leq \int_{a}^{b} |\tau - t|^{\mu - 1} E_{\rho,\mu}^{\lambda} (\omega |\tau - t|^{\rho}) |\alpha_{1}(t)| |x(t)| dt$$

$$+ \left( \int_{a}^{b} |\tau - t|^{\gamma(\mu - 1)} \left( E_{\rho,\mu}^{\lambda} (\omega |\tau - t|^{\rho}) \right)^{\gamma} \beta_{1}(t) dt \right)^{\frac{1}{\gamma}}$$

$$\times \left( \int_{a}^{b} \beta_{2}(t) |x(t)|^{\beta} dt \right)^{\frac{1}{\alpha}}.$$

Since  $M = |x(\tau)| = \max |x(t)|_{a < t < b}$  and  $\beta_2^+(t) = \max \{\beta_2(t), 0\}$ , by (9), the following inequality holds

$$2|x(\tau)| \leq |x(\tau)| \int_a^b |\tau - t|^{\mu - 1} E_{\rho,\mu}^{\lambda} (\omega |\tau - t|^{\rho}) |\alpha_1(t)| dt$$

$$+ |x(\tau)|^{\frac{\beta}{\alpha}} \Big( \int_a^b |\tau - t|^{\gamma(\mu - 1)} \big( E_{\rho,\mu}^{\lambda} \big( \omega |\tau - t|^{\rho} \big) \big)^{\gamma} \beta_1(t) dt \Big)^{\frac{1}{\gamma}} \Big( \int_a^b \beta_2^+(t) dt \Big)^{\frac{1}{\alpha}},$$

and finally

$$2 \leq \int_{a}^{b} |\tau - t|^{\mu - 1} E_{\rho,\mu}^{\lambda} \left(\omega |\tau - t|^{\rho}\right) |\alpha_{1}(t)| dt$$
$$+ M^{\frac{\beta}{\alpha} - 1} \left(\int_{a}^{b} |\tau - t|^{\gamma(\mu - 1)} \left(E_{\rho,\mu}^{\lambda} \left(\omega |\tau - t|^{\rho}\right)\right)^{\gamma} \beta_{1}(t) dt\right)^{\frac{1}{\gamma}} \left(\int_{a}^{b} \beta_{2}^{+}(t) dt\right)^{\frac{1}{\alpha}}.$$

Corollary 1. In the case  $\beta = \alpha$  for the system (1), i.e.,

$$\begin{split} D_{\rho,\mu,\omega,t}^{\lambda}x(t) &= \alpha_1(t)x(t) + \beta_1(t)|u(t)|^{\gamma-2}u(t), \\ D_{\rho,\mu,\omega,t}^{\lambda}u(t) &= -\beta_2(t)|x(t)|^{\alpha-2}x(t) - \alpha_1(t)u(t), \\ x(a) &= x(b) = 0, \quad (E_{\rho,1-\mu,\omega,a^+}^{-\lambda}u)(b) = (E_{\rho,1-\mu,\omega,b^-}^{-\lambda}u)(a) = 0, \quad a,b \in \mathbb{R}, a < b, \\ where \ \frac{1}{\alpha} + \frac{1}{\gamma} &= 1, \ the \ following \ inequality \ holds \ for \ 0 < \mu < 1 \end{split}$$

$$2 \leq \int_{a}^{b} |\tau - t|^{\mu - 1} E_{\rho,\mu}^{\lambda} (\omega |\tau - t|^{\rho}) |\alpha_{1}(t)| dt$$
$$+ \left( \int_{a}^{b} |\tau - t|^{\gamma(\mu - 1)} \left( E_{\rho,\mu}^{\lambda} (\omega |\tau - t|^{\rho}) \right)^{\gamma} \beta_{1}(t) dt \right)^{\frac{1}{\gamma}} \left( \int_{a}^{b} \beta_{2}^{+}(t) dt \right)^{\frac{1}{\alpha}}.$$

Corollary 2. In the subcase  $\beta = 2$  and  $\gamma = 2$  for the system (1), i.e., for the fractional linear system

$$\begin{split} D_{\rho,\mu,\omega,t}^{\lambda}x(t) &= \alpha_1(t)x(t) + \beta_1(t)u(t), \\ D_{\rho,\mu,\omega,t}^{\lambda}u(t) &= -\beta_2(t)x(t) - \alpha_1(t)u(t), \\ x(a) &= x(b) = 0, \quad (E_{\rho,1-\mu,\omega,a^+}^{-\lambda}u)(b) = (E_{\rho,1-\mu,\omega,b^-}^{-\lambda}u)(a) = 0, \quad a,b \in \mathbb{R}, a < b, \\ the following inequality holds for  $0 < \mu < 1 \end{split}$$$

$$2 \leq \int_{a}^{b} |\tau - t|^{\mu - 1} E_{\rho,\mu}^{\lambda} (\omega |\tau - t|^{\rho}) |\alpha_{1}(t)| dt + \left( \int_{a}^{b} |\tau - t|^{2(\mu - 1)} \left( E_{\rho,\mu}^{\lambda} (\omega |\tau - t|^{\rho}) \right)^{2} \beta_{1}(t) dt \right)^{\frac{1}{2}} \left( \int_{a}^{b} \beta_{2}^{+}(t) dt \right)^{\frac{1}{2}}.$$

**Theorem 3.** In the special case of system (1), for the fractional system

(10) 
$$\begin{cases} D_{\rho,\mu,\omega,t}^{\lambda} x(t) = \beta_1(t) |u(t)|^{\gamma-2} u(t), \\ D_{\rho,\mu,\omega,t}^{\lambda} u(t) = -\beta_2(t) |x(t)|^{\beta-2} x(t), \end{cases}$$

with initial conditions

$$x(a) = x(b) = 0, \quad (E_{\rho, 1 - \mu, \omega, a^+}^{-\lambda} u)(b) = (E_{\rho, 1 - \mu, \omega, b^-}^{-\lambda} u)(a) = 0, \quad a, b \in \mathbb{R}, a < b,$$
 the following inequalities hold for  $0 < \mu < 1$  and  $\tau \in (a, b)$ 

$$1 \leq M^{\beta-\alpha} \Big( \int_{a}^{\tau} |t-\tau|^{\gamma(\mu-1)} \Big( E_{\rho,\mu}^{\lambda} \Big( \omega |t-\tau|^{\rho} \Big) \Big)^{\gamma} \beta_{1}(t) dt \Big)^{\alpha-1} \Big( \int_{a}^{\tau} \beta_{2}^{+}(t) dt \Big),$$

$$1 \leq M^{\beta-\alpha} \Big( \int_{\tau}^{b} |t-\tau|^{\gamma(\mu-1)} \Big( E_{\rho,\mu}^{\lambda} \Big( \omega |t-\tau|^{\rho} \Big) \Big)^{\gamma} \beta_{1}(t) dt \Big)^{\alpha-1} \Big( \int_{\tau}^{b} \beta_{2}^{+}(t) dt \Big),$$

$$2^{\alpha} \leq M^{\beta-\alpha} \Big( \int_{a}^{b} |t-\tau|^{\gamma(\mu-1)} \Big( E_{\rho,\mu}^{\lambda} \Big( \omega |t-\tau|^{\rho} \Big) \Big)^{\gamma} \beta_{1}(t) dt \Big)^{\alpha-1} \Big( \int_{a}^{b} \beta_{2}^{+}(t) dt \Big).$$

Proof. Since x(a) = x(b) = 0 and x is not identically zero on [a,b], there exists  $\tau \in (a,b)$  such that  $M = |x(\tau)| = \max |x(t)|_{a < t < b} > 0$ . Applying the left-sided Prabhakar fractional integral operator  $E_{\rho,\mu,\omega,a^+}^{\lambda}$  on the both sides of the first equation of system (10) in the interval  $[a,\tau]$  and using Lemma 4, also taking into account x(a) = 0 and  $0 < \mu < 1$ , we get

$$x(\tau) = \int_{a}^{\tau} (\tau - t)^{\mu - 1} E_{\rho, \mu}^{\lambda} \left( \omega(\tau - t)^{\rho} \right) \beta_1(t) |u(t)|^{\gamma - 1} dt,$$

and so

(11) 
$$|x(\tau)| \le \int_a^{\tau} |\tau - t|^{\mu - 1} E_{\rho,\mu}^{\lambda} (\omega |\tau - t|^{\rho}) \beta_1(t) |u(t)|^{\gamma - 1} dt.$$

Hence, by using the Hölder inequality on the second integral of the right side of (11), we obtain

$$\begin{split} \int_{a}^{\tau} |\tau - t|^{\mu - 1} E_{\rho,\mu}^{\lambda} \left( \omega |\tau - t|^{\rho} \right) \beta_{1}(t) |u(t)|^{\gamma - 1} dt \\ &= \int_{a}^{\tau} |\tau - t|^{\mu - 1} E_{\rho,\mu}^{\lambda} \left( \omega |\tau - t|^{\rho} \right) \beta_{1}^{\frac{1}{\gamma}}(t) \beta_{1}^{\frac{1}{\alpha}}(t) |u(t)|^{\gamma - 1} dt \\ &\leq \left( \int_{a}^{\tau} |\tau - t|^{\gamma(\mu - 1)} \left( E_{\rho,\mu}^{\lambda} \left( \omega |\tau - t|^{\rho} \right) \right)^{\gamma} \beta_{1}(t) dt \right)^{\frac{1}{\gamma}} \left( \int_{a}^{\tau} \beta_{1}(t) |u(t)|^{\alpha(\gamma - 1)} dt \right)^{\frac{1}{\alpha}} \\ &= \left( \int_{a}^{\tau} |\tau - t|^{\gamma(\mu - 1)} \left( E_{\rho,\mu}^{\lambda} \left( \omega |\tau - t|^{\rho} \right) \right)^{\gamma} \beta_{1}(t) dt \right)^{\frac{1}{\gamma}} \left( \int_{a}^{\tau} \beta_{1}(t) |u(t)|^{\gamma} dt \right)^{\frac{1}{\alpha}}, \end{split}$$

where  $\frac{1}{\alpha} + \frac{1}{\gamma} = 1$ . Therefore, the relation (11) implies that (12)

$$|x(\tau)| \le \left(\int_a^\tau |\tau - t|^{\gamma(\mu - 1)} \left(E_{\rho, \mu}^{\lambda} \left(\omega |\tau - t|^{\rho}\right)\right)^{\gamma} \beta_1(t) dt\right)^{\frac{1}{\gamma}} \left(\int_a^\tau \beta_1(t) |u(t)|^{\gamma} dt\right)^{\frac{1}{\alpha}}.$$

Now, without loss of generality, let the operator  $D_{\rho,\mu,\omega,t}^{\lambda}$  of the system (10) be left-sided Prabhakar derivative. If we multiply the first equation of system (10) by u(t) and the second one by x(t) and then adding the results, we get

$$u(t)D_{\rho,\mu,\omega,a^{+}}^{\lambda}x(t) + x(t)D_{\rho,\mu,\omega,a^{+}}^{\lambda}u(t) = \beta_{1}(t)|u(t)|^{\gamma} - \beta_{2}(t)|x(t)|^{\beta}.$$

At this point, by integrating the above equation on interval  $[a, \tau]$ , using the relation (6) and Definition 2, we obtain for  $y \in (a, \tau)$ 

$$\begin{split} \int_{a}^{\tau} \beta_{1}(t)|u(t)|^{\gamma}dt &- \int_{a}^{\tau} \beta_{2}(t)|x(t)|^{\beta}dt \\ &= \int_{a}^{\tau} u(t)D_{\rho,\mu,\omega,a}^{\lambda} + x(t)dt + \int_{a}^{\tau} x(t)D_{\rho,\mu,\omega,a}^{\lambda} + u(t)dt \\ &= \int_{a}^{\tau} u(t)D_{\rho,\mu,\omega,a}^{\lambda} + x(t)dt + \int_{a}^{\tau} u(t)D_{\rho,\mu,\omega,\tau}^{\lambda} - x(t)dt \\ &= \int_{a}^{\tau} u(t)\left[D_{\rho,\mu,\omega,a}^{\lambda} + x(t) + D_{\rho,\mu,\omega,\tau}^{\lambda} - x(t)\right]dt \\ &\leq \int_{a}^{\tau} |u(t)|\left[\frac{d}{dt}\int_{a}^{t} |t - y|^{-\mu}E_{\rho,1-\mu}^{-\lambda}(\omega|t - y|^{\rho})|x(y)|dy \\ &+ \frac{d}{dt}\int_{t}^{\tau} |y - t|^{-\mu}E_{\rho,1-\mu}^{-\lambda}(\omega|t - y|^{\rho})|x(y)|dy\right]dt \\ &\leq \int_{a}^{\tau} |u(t)|\left[\frac{d}{dt}\int_{a}^{t} |t - y|^{-\mu}E_{\rho,1-\mu}^{-\lambda}(\omega|t - y|^{\rho})\max|x(y)|dy\right]dt \\ &= \int_{a}^{\tau} |u(t)||x(\tau)|\left[\frac{d}{dt}\int_{a}^{t} |t - y|^{-\mu}E_{\rho,1-\mu}^{-\lambda}(\omega|t - y|^{\rho})dy \\ &+ \frac{d}{dt}\int_{t}^{\tau} |y - t|^{-\mu}E_{\rho,1-\mu}^{-\lambda}(\omega|\tau - t|^{\rho})dy\right]dt \\ &\leq \int_{a}^{b} |u(t)||x(\tau)|\left[\frac{d}{dt}\int_{a}^{t} |t - y|^{-\mu}E_{\rho,1-\mu}^{-\lambda}(\omega|t - y|^{\rho})dy \\ &+ \frac{d}{dt}\int_{t}^{t} |y - t|^{-\mu}E_{\rho,1-\mu}^{-\lambda}(\omega|t - y|^{\rho})dy\right]dt \\ &= (\pm 1)^{1+\rho-\mu}M\int_{a}^{b} u(t)\left[(D_{\rho,\mu,\omega,a}^{\lambda} + 1)(t) + (D_{\rho,\mu,\omega,b}^{\lambda} - 1)(t)\right]dt, \end{split}$$

where  $M=|x(\tau)|=\max|x(y)|_{a< y< \tau < b}$ . Using the relations (3) and (4), also taking into account  $(I_{a^+}^{1-\mu}u)(b)=(I_{b^-}^{1-\mu}u)(a)=0$ , we get

$$(\pm 1)^{1+\rho-\mu} M \int_{a}^{b} u(t) \left[ (D_{\rho,\mu,\omega,a^{+}}^{\lambda} 1)(t) + (D_{\rho,\mu,\omega,b^{-}}^{\lambda} 1)(t) \right] dt$$

$$= (\pm 1)^{1+\rho-\mu} M \left[ \int_{a}^{b} (t-a)^{-\mu} E_{\rho,1-\mu}^{-\lambda} (\omega |t-y|^{\rho}) u(t) dt + \int_{a}^{b} (b-t)^{-\mu} E_{\rho,1-\mu}^{-\lambda} (\omega |t-y|^{\rho}) u(t) dt \right]$$

$$= (\pm 1)^{1+\rho-\mu} M \Big[ (I_{b^-}^{1-\mu} u)(a) + (I_{a^+}^{1-\mu} u)(b) \Big] = 0,$$

SO

$$\int_{a}^{\tau} \beta_1(t)|u(t)|^{\gamma} dt \le \int_{a}^{\tau} \beta_2(t)|x(t)|^{\beta} dt.$$

Thus, we find from (12) (13)

$$|x(\tau)| \le \left(\int_a^\tau |\tau - t|^{\gamma(\mu - 1)} \left(E_{\rho, \mu}^{\lambda} \left(\omega |\tau - t|^{\rho}\right)\right)^{\gamma} \beta_1(t) dt\right)^{\frac{1}{\gamma}} \left(\int_a^\tau \beta_2(t) |x(t)|^{\beta} dt\right)^{\frac{1}{\alpha}}.$$

Since  $M = |x(\tau)| = \max |x(t)|_{a < t < b}$  and  $\beta_2^+(t) = \max \{\beta_2(t), 0\}$ , thus (13) yields

$$|x(\tau)| \leq |x(\tau)|^{\frac{\beta}{\alpha}} \left( \int_a^{\tau} |\tau - t|^{\gamma(\mu - 1)} \left( E_{\rho, \mu}^{\lambda} \left( \omega |\tau - t|^{\rho} \right) \right)^{\gamma} \beta_1(t) dt \right)^{\frac{1}{\gamma}} \left( \int_a^{\tau} \beta_2^+(t) dt \right)^{\frac{1}{\alpha}},$$

and hence we have

$$(14) 1 \leq M^{\frac{\beta}{\alpha}-1} \Big( \int_a^{\tau} |\tau - t|^{\gamma(\mu-1)} \big( E_{\rho,\mu}^{\lambda} \big( \omega |\tau - t|^{\rho} \big) \big)^{\gamma} \beta_1(t) dt \Big)^{\frac{1}{\gamma}} \Big( \int_a^{\tau} \beta_2^+(t) dt \Big)^{\frac{1}{\alpha}}.$$

Taking the  $\alpha$ -th power of both sides of inequality (14), we get

$$1 \le M^{\beta - \alpha} \Big( \int_a^\tau |\tau - t|^{\gamma(\mu - 1)} \Big( E_{\rho, \mu}^{\lambda} \Big( \omega |\tau - t|^{\rho} \Big) \Big)^{\gamma} \beta_1(t) dt \Big)^{\alpha - 1} \Big( \int_a^\tau \beta_2^+(t) dt \Big).$$

Now, by applying the right-sided Prabhakar fractional integral operator  $I_{b^-}^{\mu}$  on both sides of the first equation of system (10) in the interval  $[\tau, b]$  and using Lemma 4, also taking into account x(b) = 0, we get

$$|x(\tau)| \le \int_{\tau}^{b} |t - \tau|^{\mu - 1} E_{\rho,\mu}^{\lambda} \left(\omega |t - \tau|^{\rho}\right) \beta_1(t) |u(t)|^{\gamma - 1} dt,$$

and similarly by repeating the same process, we conclude

$$1 \le M^{\beta - \alpha} \Big( \int_{\tau}^{b} |t - \tau|^{\gamma(\mu - 1)} \Big( E_{\rho, \mu}^{\lambda} \Big( \omega |t - \tau|^{\rho} \Big) \Big)^{\gamma} \beta_1(t) dt \Big)^{\alpha - 1} \Big( \int_{\tau}^{b} \beta_2^{+}(t) dt \Big).$$

Since for t > 0 the function  $J(t) = t^{1-\alpha}$  is convex, due to the Jensen inequality  $J(\frac{y+z}{2}) \leq \frac{J(y)+J(z)}{2}$  with

$$y = \int_{a}^{\tau} |\tau - t|^{\gamma(\mu - 1)} \left( E_{\rho, \mu}^{\lambda} \left( \omega |\tau - t|^{\rho} \right) \right)^{\gamma} \beta_{1}(t) dt,$$

and

$$z = \int_{\tau}^{b} |t - \tau|^{\gamma(\mu - 1)} \left( E_{\rho, \mu}^{\lambda} \left( \omega |t - \tau|^{\rho} \right) \right)^{\gamma} \beta_{1}(t) dt,$$

we can obtain

$$\begin{split} \int_a^b \beta_2^+(t)dt &= \int_a^\tau \beta_2^+(t)dt + \int_\tau^b \beta_2^+(t)dt \\ &\geq \frac{1}{M^{\beta-\alpha}} \Bigg[ \Big( \int_a^\tau |\tau-t|^{\gamma(\mu-1)} \big( E_{\rho,\mu}^\lambda \big( \omega |\tau-t|^\rho \big) \big)^\gamma \beta_1(t)dt \Big)^{1-\alpha} \\ &\quad + \Big( \int_\tau^b |t-\tau|^{\gamma(\mu-1)} \big( E_{\rho,\mu}^\lambda \big( \omega |t-\tau|^\rho \big) \big)^\gamma \beta_1(t)dt \Big)^{1-\alpha} \Bigg] \\ &\geq \frac{1}{M^{\beta-\alpha}} 2 \Bigg[ \frac{1}{2} \Big( \int_a^\tau |\tau-t|^{\gamma(\mu-1)} \big( E_{\rho,\mu}^\lambda \big( \omega |\tau-t|^\rho \big) \big)^\gamma \beta_1(t)dt \\ &\quad + \int_\tau^b |t-\tau|^{\gamma(\mu-1)} \big( E_{\rho,\mu}^\lambda \big( \omega |t-\tau|^\rho \big) \big)^\gamma \beta_1(t)dt \Big) \Bigg]^{1-\alpha} \\ &= \frac{2^\alpha}{M^{\beta-\alpha}} \Big( \int_a^b |t-\tau|^{\gamma(\mu-1)} \big( E_{\rho,\mu}^\lambda \big( \omega |t-\tau|^\rho \big) \big)^\gamma \beta_1(t)dt \Big)^{1-\alpha}, \end{split}$$

and accordingly

$$2^{\alpha} \le M^{\beta - \alpha} \Big( \int_a^b |t - \tau|^{\gamma(\mu - 1)} \Big( E_{\rho, \mu}^{\lambda} \Big( \omega |t - \tau|^{\rho} \Big) \Big)^{\gamma} \beta_1(t) dt \Big)^{\alpha - 1} \Big( \int_a^b \beta_2^+(t) dt \Big).$$

Corollary 3. In the special case  $\beta = \alpha$  for the system (10), the following inequalities hold

$$1 \le \left( \int_a^\tau |t - \tau|^{\gamma(\mu - 1)} \left( E_{\rho, \mu}^{\lambda} \left( \omega |t - \tau|^{\rho} \right) \right)^{\gamma} \beta_1(t) dt \right)^{\alpha - 1} \left( \int_a^\tau \beta_2^+(t) dt \right),$$

$$1 \le \left( \int_{\tau}^{b} |t - \tau|^{\gamma(\mu - 1)} \left( E_{\rho, \mu}^{\lambda} \left( \omega |t - \tau|^{\rho} \right) \right)^{\gamma} \beta_1(t) dt \right)^{\alpha - 1} \left( \int_{\tau}^{b} \beta_2^+(t) dt \right),$$

and

$$2^{\alpha} \le \left( \int_a^b |t - \tau|^{\gamma(\mu - 1)} \left( E_{\rho, \mu}^{\lambda} \left( \omega |t - \tau|^{\rho} \right) \right)^{\gamma} \beta_1(t) dt \right)^{\alpha - 1} \left( \int_a^b \beta_2^+(t) dt \right).$$

Corollary 4. In the case  $\beta = 2$  and  $\gamma = 2$  for the system (10)

$$D^{\lambda}_{\rho,\mu,\omega,t}x(t) = \beta_1(t)u(t),$$

$$D^{\lambda}_{\rho,\mu,\omega,t}u(t) = -\beta_2(t)x(t),$$

$$x(a) = x(b) = 0, \quad (E_{\rho, 1-\mu, \omega, a^{+}}^{-\lambda} u)(b) = (E_{\rho, 1-\mu, \omega, b^{-}}^{-\lambda} u)(a) = 0, \quad a, b \in \mathbb{R}, a < b,$$

the following inequalities hold

$$1 \le \left( \int_a^\tau |t - \tau|^{2(\mu - 1)} \left( E_{\rho, \mu}^{\lambda} \left( \omega |t - \tau|^{\rho} \right) \right)^2 \beta_1(t) dt \right) \left( \int_a^\tau \beta_2^+(t) dt \right),$$

$$1 \leq \left( \int_{\tau}^{b} |t - \tau|^{2(\mu - 1)} \left( E_{\rho, \mu}^{\lambda} (\omega |t - \tau|^{\rho}) \right)^{2} \beta_{1}(t) dt \right) \left( \int_{\tau}^{b} \beta_{2}^{+}(t) dt \right),$$

$$4 \leq \left( \int_{a}^{b} |t - \tau|^{2(\mu - 1)} \left( E_{\rho, \mu}^{\lambda} (\omega |t - \tau|^{\rho}) \right)^{2} \beta_{1}(t) dt \right) \left( \int_{a}^{b} \beta_{2}^{+}(t) dt \right).$$

### References

- [1] M. Andric, J. Pecaric, I. Peric, A multiple Opial type inequality for the Riemann-Liouville fractional derivatives, J. Math. Inequal., 7(1) (2013), 139-150.
- [2] M. Andric, J. Pecaric, I. Peric, Composition identities for the Caputo fractional derivatives and applications to Opial-type inequalities, Math. Inequal. Appl., 16(3) (2013), 657-670.
- [3] M. H. Derakhshan, M. Ahmadi Darani, A. Ansari, R. Khoshsiar Ghaziani, On asymptotic stability of Prabhakar fractional differential systems, Comput. Methodes Differ. Equ., 4(4) (2016), 276-284.
- [4] M. H. Derakhshan, A. Ansari, On Hyers-Ulam stability of fractional differential equations with Prabhakar derivatives, Analysis, 38(1) (2018), 37-46.
- [5] A. Erdélyi, W. Magnus, F. Oberhettinger, F. G. Tricomi, Higher Transcendental Functions, McGraw-Hill Book Company, New York, Toronto, London, 1953.
- [6] S. Eshaghi, A. Ansari, Autoconvolution equations and generalized Mittag-Leffler functions, Int. J. Ind. Math., 7(4) (2015), 335-341.
- [7] S. Eshaghi, A. Ansari, R. Khoshsiar Ghaziani, M. Ahmadi Darani, Fractional Black-Scholes model with regularized Prabhakar derivative, Publ. Inst. Math., 102(116) (2017), 121-132.
- [8] S. Eshaghi, A. Ansari, Lyapunov inequality for fractional differential equations with Prabhakar derivative, Math. Inequal. Appl., 19(1) (2016), 349-358.
- [9] S. Eshaghi, A. Ansari, Finite fractional Storm-Liouville transforms for generalized fractional derivatives, Iran. J. Sci. Technol., 41 (2017), no. 4, 931-937.
- [10] R. A. C. Ferreira, A Lyapunove-type inequality for a fractional boundary value problem, Fract. Calc. Appl. Anal., 16(4) (2013), 978-984.
- [11] R. A. C. Ferreira, On a Lyapunove-type inequality and the zeros of a certain Mittag-Leffler function, J. Math. Anal. Appl., 412 (2014), 1058-1063.
- [12] K. M. Furati, N.E. Tatar, Inequalities for fractional differential equations, Math. Inequal. Appl., 12(2) (2009), 279-293.
- [13] R. Garra, R. Gorenflo, F. Polito, Z. Tomovski, *Hilfer-Prabhakar derivatives and some applications*, Appl. Math. Comput., 242 (2014), 576-589.
- [14] R. Garra, R. Garrappa, The Prabhakar or three parameter Mittag-Leffler function: theory and application, Commun. Nonlinear Sci. Numer. Simul., 56 (2018), 314-329.
- [15] R. Gorenflo, F. Mainardi, Fractional calculus: Integral and differential equations of fractional order, in: A. Carpinteri, F. Mainardi (Eds.), Fractals and Fractional Calculus in Continuum Mechanics, Springer Series on CSM Courses and Lectures, Springer-Verlag, Wien, 378 (1997), 223-276.
- [16] R. Gorenflo, F. Mainardi, H. M. Srivastava, Special functions in fractional relaxationoscillatio and fractional diffusion-wave phenomena, in: D. Bainov (Ed.), Proceedings of the Eighth International Colloquium on Differential Equations (Plovdiv, Bulgaria; August 1823, 1997), VSP Publishers, Utrecht, Tokyo, (1998), 195-202.
- [17] R. Gorenflo, A. A. Kilbas, S. V. Rogosin, On the generalized Mittag-Leffler type function, Integral Transform. Spec. Funct., 7 (1998), 215-224.

- [18] R. Hilfer, H. Seybold, Computation of the generalized Mittag-Leffler function and its inverse in the complex plane, Integral Transform. Spec. Funct., 17 (2006), 637-652.
- [19] S. Iqbal, K. Krulic, J. Pecaric, On an inequality for convex functions with some applications on fractional derivatives and fractional integrals, J. Math. Inequal., 5(2) (2011), 427-443.
- [20] M. Jleli, B. Samet, Lyapunov-type inequalities for a fractional differential equation with mixed boundary conditions, Math. Inequal. Appl., 18(2) (2015), 443-451.
- [21] M. Jleli, B. Samet, Lyapunov-type inequalities for fractional boundary-value problems, Electr. J. Diff. Equ., 88 (2015), 1-11.
- [22] A. A. Kilbas, M. Saigo, On Mittag-Leffler type function, fractional calculus operators and solutions of integral equations, Integral Transform. Spec. Funct., 4 (1996), 355-370.
- [23] A. A. Kilbas, M. Saigo, R. K. Saxena, Generalized Mittag-Leffler function and generalized fractional calculus operators, Integral Transform. Spec. Funct., 15 (2004), 31-49.
- [24] A. A. Kilbas, H. M. Srivastava, J. J. Trujillo, *Theory and Applications of Fractional Differential Equations*, North-Holland Math. Stud., Amsterdam, 2006.
- [25] F. Mainardi, Fractional Calculus and Waves in Linear Viscoelasticity, Imperial College Press, London, 2010.
- [26] G. M. Mittag-Leffler, Sur la nouvelle fonction Eax. Comptes Rendus Acad. Sci., Paris, 137 (1903), 554-558.
- [27] G. M. Mittag-Leffler, Sur la representation analytique dune fonction monogene (cinquieme note), Acta Math., 29 (1905), 101-181.
- [28] H. Noroozi, A. Ansari, M. S. Dahaghin, Fundamental inequalities for fractional hybrid differential equations of distributed order and applications, J. Math. Inequal., 8(3) (2014), 427-443.
- [29] T. R. Prabhakar, A singular integral equation with a generalized Mittag-Leffler function in the kernel, Yokohama. Math. J., 19 (1971), 7-15.
- [30] H. J. Seybold, R. Hilfer, Numerical results for the generalized Mittag-Leffler function, Fract. Calc. Appl. Anal., 8 (2005), 127-139.
- [31] H. M. Srivastava, Z. Tomovski, Fractional calculus with an integral operator containing a generalized Mittag-Leffler function in the kernel, Appl. Math. Comput., 211 (2009), 198-210.
- [32] A. Tiryaki, M. Ünal, D. Çakmak, Lyapunov-type inequalities for nonlinear systems, J. Math. Anal. Appl., 332 (2007), 497-511.
- [33] Z. Tomovski, R. Hilfer, H. M. Srivastava, Fractional and operational calculus with generalized fractional derivative operators and Mittag-Leffler type functions, Fract. Calc. Appl. Anal., 21(11) (2010), 797-814.
- [34] B. Zheng, New generalized 2D nonlinear inequalities and applications in fractional differential-integral equations, J. Math. Inequal., 9(1) (2015), 235-246.
- [35] B. Zheng, Some new discrete fractional inequalities and their applications in fractional difference equations, J. Math. Inequal., 9(3) (2015), 823-839.

Received August 25, 2016.

SHIVA ESHAGHI
DEPARTMENT OF APPLIED MATHEMATICS,
FACULTY OF MATHEMATICAL SCIENCES,
SHAHREKORD UNIVERSITY, P.O.BOX 115, SHAHREKORD, IRAN
Email address: shiva\_eshaghi69@yahoo.com

Alireza Ansari

DEPARTMENT OF APPLIED MATHEMATICS, FACULTY OF MATHEMATICAL SCIENCES, SHAHREKORD UNIVERSITY, P.O.BOX 115, SHAHREKORD, IRAN Email address: alireza\_1038@yahoo.com

REZA KHOSHSIAR GHAZIANI
DEPARTMENT OF APPLIED MATHEMATICS,

Shahrekord University, P.O.Box 115, Shahrekord, Iran

Email address: Rkhoshsiar@gmail.com

FACULTY OF MATHEMATICAL SCIENCES,